DP-8100

Parts List

~

YCO-1025-10-01 1/2 )

Yamato

YAMATO CORPORATION
1775 S. Murray Blvd.

Colorado Springs, CO 80916 USA

Tel (719) 591-1500 Fax (719) 591-1045

YAMATO TECH CORPORATION
#112-19425 Langley By-Pass

Surrey, B.C. V3S 6K1 Canada

Tel (604) 533-2338 Fax (604) 533-0827



Parts List
p

DP-8100

ITEM PART # DESCRIPTION QTY. UNIT PRICE
2 Screw, Round, Phillips, M3 x 8mm 4
3 YAM-1400-001010 Bracket, Mounting, Column (1210) 1
4 YAM-1400-001020 Gasket, Mounting Bracket 1
5 Screw, M3 x 13 1
6 Screw, M3 x 13 1
7 YAM-1400-001030 Thumbscrew, M5 x 10 1
8 YAM-1400-810001 Membrane Panel, 150 Ib 1

Membrane Panel, 300 Ib 1
9 YAM-1400-001070 Lens, Display 1
10 YAM-1400-001090 Housing, Indicator 1
11 YAM-1400-001105 Bracket Attaching Plate (S.S.) 1
12 YAM-1400-001110 Holder, Battery 1
13 Screw, Round, Phillips, M3 x 10 1
14 YAM-1400-001120 Adaptor / Battery Cable 1
15 YAM-1400-001130 Bracket, AC Jack 1
16 Screw 1
17 Screw, M3 x 7, Switch Cover 2
18 YAM-1400-001140 Cover, Test Switch 1
19 YAM-1400-810002 Board, CPU 1
20 YAM-1400-001160 Film, Shielding 1
21 YAM-1400-810002 Washer, CPU Board 2
22 YAM-1400-001170 Gasket, Back Plate 1
23 YAM-1400-001180 Plate, Back 1
24 YAM-1350-921022 Thumbscrew, M3 x 6 1
NP YAM-1400-001330 Switch, TSO 4
NP YAM-1400-810442 Load Cell, 150 Ib/ 75 kg DP-8100 1
NP YAM-1400-810443 Load Cell, 300 Ib/ 150 kg DP-8100 1
NP YAM-1400-101320 Vibrating Wire Kit (same as DSY-1100) 1
NP YAM-1400-001280 Leg, Levelling, (M.S.) 4
NP YAM-1400-811220 Board, A/D 1
NP YAM-1350-921016 Jack, AC 1
NP YAM-1400-810005 Test Switch 1
NP YAM-1400-001340 Leveling Device 1

NP = Not Pictured

YCO-1025-10-01

212 )




